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POLITICAL SCIENCE
( General )

Paper : 5.1
( Public Administration—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer / Choose the correct one of the
following : 1x10=10
fafReraee Ter e / we Tet ifk Terear :

fa) The book, Introduction to the study
of Public Administration is written by
L. D. White/Willoughby/Simon.
Introduction to the study of Public
Administration s93 @R @9 zT|
@@, ¥, oIS /Tea’R /o |
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(b)

()

(d)

(e)
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(2)

Who edited the book, Towards a New
Public Administration : The Minnowbrook
Perspective?

Towards a New Public Administration :
The Minnowbrook Perspective s5¥ 284
CRIC (el Pfafest ?

Elton Mayo is associated with Human
Relations Movement/Scientific Manage-
ment theory/Bureaucratic theory.

B (T wEe TERE U SICEns
o7 / (I ARBE T TS /A SIS
TG A9 |

The integral = view of  Public
Administration was supported by
Dimock/Simon/Thompson.

- SfeR  qEeRe  mdq IRfeE
eaC /BIRACH / 4=LA |

“Organization is a system of cooperative
activity of two or more persons.” This
was the statement of Bernard/
Dimock/Mooney.

‘opes (xR A A SOIRE WA

SEPeEE FER AT FA GO A 7 6
et wnfee qeféa /fowssa /4 |

( Continued )

(9)

()

(i

0
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(3)

‘Administration’ has been derived from
which Latin words?

o (administration) *RCo! (FTCRZD]
Latin *3@ *&1 =13z ?

Write one difference between public
corporation and a department.

W_EA Fe o Rerr Twe 97 9ol N
feran 1

“Responsibility is one of the factors of
centralization and decentralization.”
This statement is true/false.

T e e CR ) R S i L I
TomE 1”7 (% FYEF 0T/ TEF |

“Halden Committee was set up in the
year 1920.” This statement is
true/false.

“gares ARS Sd3o B FeW T4 (e 1”7
% FYER W7 /T |

“A corporation is a body framed for the
purpose of enabling a number of
persons to act as a single person.” This
was said by Pfiffner/Grange/Shukla.

“Regym IfEE 9B oM RBort I Ao
PR AR BT T I (202 o 1 @
AR CHiRa e /g /o2 |
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2. Answer the following questions : 2x5=10
S APTYEE Teq o

fa) Mention two factors which contribute to
the growth of Public Administration.

ER-2pPeR Rerre 33efd Qs 761 S
ey 91 |

{b) Name the views regarding the nature of
Public Administration.

CERE-2PE 43S e 49 qBSRIPIOR AW
forar 1 .

(c) What does the word ‘administration’
mean? :
‘opIPT R e g 2

(d) Why is Public Administration not a
science? Give two arguments.

-2 e R =g 2 451 3% e |

(e) Write two features of hierarchy.

e 1 Ll Fr
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(5)

3. Write short notes on any four of the

following :

@R R @I wifReR eoqe 5y (Bra fora

(a)

(b)

c)

(d)

(e)

Al6/118

Scope of Public Administration
(oA~ 2P AT

Nature of Public Administration
FA-2PTR 23fS

Features of good governance

-2PPTRT (3fHE)

Importance of Public Administration in
India

SREY (- I

Legislative control

RyfETt e

Auxiliary agency
et ST=F (o6
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(6)

4. Answer any four of the following questions :
10x4=40
oo R el it e e fora

(a) Make a distinction between Public
Administration and Private
Administration.

EIR-2MP SF (AT 2P WS AT
sl

(p) Trace the evolution of Public
Administration as a discipline.

s Ry R - @R
Eircinie il

(c) Critically discuss the theory of Scientific
Management.

wefie  ARGER  SGOR RS
iz ol

(d) Define ‘corruption’. How can it be

prevented?
Afe’e K@l g | e @R sifszary T
o qH ?
A16/118 ( Continued )

(e)

(g)

(h)

A16—50*/118

LY

Make an estimate of the functions of the
Chief Executive as a General Manager.

o “ROETE B 10 IREIPRR FRfEAR
A 41

Discuss the methods by which the
Parliament can control public
undertakings.

s Sraere woww & R e
A3 “I, DA T4 |

Discuss the factors responsible for
decentralization.

REAFAIR AR TEI IRPHR S
1

What do you mean by department?
What are its different types? Discuss.

ﬁ@ﬁmﬁsw?mﬁﬁ:ﬂmﬁsﬁs?
HCAT 4T |
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